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e :

(i)  Answers must be written either in English or in Marathi.

(i}

(iii}

(iv)

(v)

(vi)

Question No. 1 is Compulsory. Of the remaining questions, attempt any four selecting one question
from each section,

T FHIF 1 T g IHRd YT FIUAE TR Gear 90 FAF [G9rgT O I [HagT
TIefao v 3R,

Figures to the RIGHT indicate marks of the respective question.

IAAFEIT AT ATt FeAT 0 SR,

Number of optional questions upto the prescribed number in the order in which they have been
solved will only be assessed. Excess answers will not be assessed.

7 FUFR FYiRa TEIvdT v FeaE el SR da9dia JITHE UGl wigey, aRad
I TEEA SR TEN.

Credit will be given for orderly, concise and effective writing.

HedeaTy, Thra 7 IROTTFERF [Eomg 49 fae s,

Candidate should not write roll number, any name (including their own), signature, address or any
indication of their identity anywhere inside the answer book otherwise he will be penalised.

QUR [958 T2 F& T3 HZE A FET I 3,
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1. Answer any four of the following :

YRt HIvTeAEl SRTEt S

(a)

(b)

(©)

(d)

(e)

Why did Justice M.G. Ranade attack the policy of Laissez Faire as was applied by
the British Government to Indian conditions ?

fordier T sireefte witfterftar srifercie Préwen dRomer =md v, e
i FAt Fett ? |

What are the flows in Indian Food Security System ?

TR ST TEAHEd S0 2 o7a ?

What are the problems of Child Labour in India ? What are the remedies to
tackle the problem of Child Labour ?

TRATC STeTASIi=a s e ? e SHe SRR e
SRS 211 ?
What are the items of income and expenditure of Panchayat Raj Institutions in

Maharashtra ? Bring out the tendencies in them between the 2004-05 and
2005-06.

TRRTSIHIS J9rgd 9 HRIn 309 § Tai=a] =6l S ? RS 2004-05 9
2005-06 41 TTATTA e g 3Teredl Ugel T &,

Discuss the main features of the Tenth Five Year Plan.

SECTION - A

faum - A

2. Answer the following sub-questions :

Eier Yyl 39

(@)

()  Define the concept of economic drain. How did economic drain arose ?

feler QR0 1 Herewr=h =arem . snfw fr.amm %8 foraior gt ?

(i) Examine the various poverty eradication measures in India.

ATt fafay <fes ffem sum e .
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(b) Examine statewise distribution of employment and unemployment and sectorwise 10
distribution of employment in India during the Ninth Five Year Plan.

S GaaE AN e MRadE JeR 9 awiie Ta-fer faveE st
IR &7 Faera favsm 9= wliem #:1.

(c) Examine the growth of industry groupwise Foreign Direct Investment (FDI} in 10
Maharashtra since 1991 to 2006.

1991 WA 9 2006 T HERIE Fow 39m TR frem T 42 Taesen
T R,

(d) State the achievements and failures of Employment Guarantee Scheme in 10
Maharashtra.

TRITTTE USTTR &6 IS a9 i S{9ae e &

Answer the following sub-questions :

Wmmm

{a) (i) What were the harmful effects of economic drain on Indian economy ? 10
e 7. ORuN YT stdfsraedat FI0d JTHESIE RO agA 3kl ?
(i) Discuss the measures for the upliftment of women in India. '

(b) What are the various measures of unemployment rates in India ? 10

AT NeRR=aT g0 fafay Heme sivw ?

() Explain the salient features of industrial sector in Maharashtra since 1991 to 2007. 10

1991 YR & 2007 T ARG ofieifite dermel Se% ATl wWe #W.

{d) Review the progress of co-operative movement in Maharashtra since 1991 upto 10
2006.

1991 & 2006 T ARSI Hehi! Teasiedl Wird qdarr .

P.T.O.
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SECTION - B
faurr - B
4.  Answer the following sub-questions :
R UTI= S
(@) What is organic farming ? How is it beneficial to India ? 10
S Ft TS TG 7 ATl o SIveR FE S ?
(b) Examine the role of NABARD in agricultural finance. 10
Yt faaqrasams T e wham w1,
(¢)  Outline the progress of Maharashtra in irrigation sector. 10
SAfH= TS HERTSSA] WIS S5 o,

(d) (@ How National Agriculture Policy-2000 has emphasised on institutional 10
structure and risk management for rural development ?

T et dRO-2000 A T REHTEEIS WRnad A oY e srEeeT
TR B R e s

(i) ~What strategies can India adopt to capture the world agricultural market ?

STfeeh Wedeh! ASTRUS SHIETS HI0ATHIE! YRT FIVR ST s T95e ?

5.  Answer the following sub-questions :

Tl ST IR

(@) What is contract farming ? How is it beneficial to India ? 10

I I FRUS 7 MIATE < I e SR 7

(b) Explain the export competitiveness of Indian agricultural products in recent years. 10

ARSI kel YT Sefifomas gt fafa wulesa we w1,

(c) Explain the live stock resource and their productivity in Maharashtra. Since 1996 10
to 2006.

1996 9 2006 99d HENIic IPUT M-I SN S SqRwal TR 4,

S A, e s -
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(d) (@) ~“National Agriculture Policy-2000 is formed to achieve the rural
development”. Comment on the statement.

‘ol fHRE W G TR P HRm-2000 ® sHfaer R - @
faurmER 9T %1,

(ii) “Agreement on Agriculture of WTO has widened the agricultural market
for both developed and developing countries”. Discuss.

TS Yokl SeRYS forga Seft o' - ==l A

SECTION - C
faum - C

Answer the following sub-questions :

TR SUuTiSt SOl

(a) Examine the significance of service sector in India. What are the problems being
faced by Service Sector ?

ALY YA HewErs TE HU. VTSR] HIvedl TERgHl G S ara
e ?

(by (i) What are the effects of Liberalisation on Indian Industries ?
TR SR ISR SV TR S oned ?

(iiy What are the problems of co-operative sugar industries in Maharashtra ?

HRERTSZTIE HEshi HRET JT=A W HiveT 3Ted ?

(c) Discuss the selective techniques of monetary management used by Reserve Bank
of India.

(d) Explain the recent developments in air transport in India.

NI BaTs aTeqemed Tdihala hlemid fae T H,

o
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7. Answer the following sub-questions :

TR STYTAIET ST A

(a) Examine the role and development of electricity and power generation in India.
What are the problems being faced by power sector ?

RARire S afor forga FiddER gftem 3 faem @i wam w5, frepdeerg
FHIU TGS AR AN AR ?

(b) @)

(i)

Explain the New Industrial Policy-1991 which has started as a liberalisation
measures.

TR 3UE 1 g 3 T SefiF $Rw-1991 4 oot o, 3 T %,

Examine the role of state level industrial finance institutions in industrial
growth of Maharashtra.

HERTr=A e faewran T sl o dreien yfss whem wa.

(c) What are the techniques of monetary management used by Reserve Bank of
India ?

TR et dehahg araeel o foreie serememre 93 #iow ?

(d) Explain the importance of rail transport in India. What are the problems in railway
development ?

TR (o0 TR Hew T H. 1o famamed o 97e o ?

SECTION - D
faamr-D

8.  Answer the following sub-questions :

TErd SUWTAE IW ;M :

(@ @®

(i)

Explain the methods of disinvestment applied in India as a strategy of the
Tenth Five Year Plan.

TEA WAl A S A sl IR srastaeen FfaEumen ved
T FL

How far Indian planning has become successful to achieve social justice in
recent years ?

HcihEled a¥id WIS =1 9157 v YR FEen fequa aee gt
R ?
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Tt

Examine the role of Statutory Development Boards in Maharashtra ? 10
TR defe faem Hewen Jfass wemr wy.

What are the changes in direction of India’s Foreign Trade since 1991. 10

1991 IR sRar= faeft =mrren feda wreet et i ?

Outline the features of Fiscal Responsibility and Budget Management Act of 2003.
USTRIETE SaTeERt o SIS SHTeA F1aal 2003 = Sferes) arh wovw @,

Answer the following sub-questions :

el S SR

(2)

(©

(d)

(i)  Explain the objectives of disinvestment as a strategy of the Tenth Five Year
Plan.

TErEAl e Aot sEue 91 A FriaaveE sire we .

(i) What measures are adopted in Indian Planning to achieve social justice ?

IS 19 W1e HAEE] YRS s FIvE 39 sasifae e ?

Examine the working of Marathawada Statutory Development Board.

wSaTel S famre Heor=n Frdugda aiem 1.

What are the reasons for the satisfactory performance of Balance of Payments in
India since 1992-93.

1992-93 WY A SEERRST WHIYTHRE HHTRIET FROL Hurd ?

What is value added tax ? Explain the merits and demerits of value added tax in
India.

A F WU HT ? AW Jeaafid w0 3 T .

-00o0-
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